

**ON GENERALIZED OSTROWSKI TYPE INEQUALITIES FOR
FUNCTIONS WHOSE FIRST DERIVATIVES ABSOLUTE VALUE
ARE CONVEX**

HÜSEYİN BUDAK AND MEHMET ZEKI SARIKAYA

ABSTRACT. In this paper, we have established some generalized Ostrowski type inequalities for functions whose first derivatives absolute are convex.

1. INTRODUCTION

In 1938, Ostrowski established the following interesting integral inequality for differentiable mappings with bounded derivatives [11]:

Theorem 1. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable mapping on (a, b) whose derivative $f' : (a, b) \rightarrow \mathbb{R}$ is bounded on (a, b) , i.e. $\|f'\|_\infty := \sup_{t \in (a, b)} |f'(t)| < \infty$. Then, we have the inequality*

$$(1.1) \quad \left| f(x) - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \left[\frac{1}{4} + \frac{(x - \frac{a+b}{2})^2}{(b-a)^2} \right] (b-a) \|f'\|_\infty,$$

for all $x \in [a, b]$. The constant $\frac{1}{4}$ is the best possible.

This inequality is well known in the literature as the *Ostrowski inequality*.

Definition 1. *The function $f : [a, b] \subset \mathbb{R} \rightarrow \mathbb{R}$, is said to be convex if the following inequality holds*

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y)$$

for all $x, y \in [a, b]$ and $t \in [0, 1]$. We say that f is concave if $(-f)$ is convex.

Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a convex function on the interval I of real numbers and $a, b \in I$ with $a < b$. If f is a convex function then the following double inequality, which is well known in the literature as the Hermite–Hadamard inequality, holds [13]

$$(1.2) \quad f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a) + f(b)}{2}.$$

In [8], Dragomir and Agarwal gave the following important inequality for convex functions:

2000 *Mathematics Subject Classification.* 26D07, 26D10, 26D15, 26A33.

Key words and phrases. Ostrowski type inequalities, Hölder inequality, convex functions.

Theorem 2. Let $f : I^\circ \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping on I° , $a, b \in I^\circ$ with $a < b$. If $|f'|$ is convex on $[a, b]$, then the following inequality holds:

$$(1.3) \quad \left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(u) du \right| \leq \frac{(b-a) |f'(a)| + |f'(b)|}{8}.$$

In [12], Ozdemir et al. gave the following Ostrowski type inequalities for functions whose derivatives are convex:

Theorem 3. Let $I \subset \mathbb{R}$ be an open interval and $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable function where $a, b \in I$ with $a < b$. If $|f'|^q$ is convex function for $\lambda \in [0, 1]$, $x \in [a, b]$ and $q \in [1, \infty)$, then the following inequality holds:

$$(1.4) \quad \left| \frac{1}{b-a} \int_a^b f(u) du - \frac{(b-x)[(1-\lambda)f(x) + \lambda f(b)] + (x-a)[(1-\lambda)f(x) + \lambda f(a)]}{(b-a)} \right|$$

$$\leq (b-a) \left(\frac{2\lambda^2 - 2\lambda + 1}{2} \right)^{\frac{q-1}{q}} \left\{ \left[\left(\frac{2\lambda^3 - 3\lambda + 2}{6} \right) \left(\frac{b-x}{b-a} \right)^{2q+1} |f'(a)|^q + \left(\frac{[6\lambda^2 - 6\lambda + 3] - [2\lambda^3 + 3\lambda + 2] \left(\frac{b-x}{b-a} \right)}{6} \right) \left(\frac{b-x}{b-a} \right)^{2q} |f'(b)|^q \right]^{\frac{1}{q}} + \left[\left(\frac{[6\lambda^2 - 6\lambda + 3] - [2\lambda^3 + 3\lambda + 2] \left(\frac{x-a}{b-a} \right)}{6} \right) \left(\frac{x-a}{b-a} \right)^{2q} |f'(a)|^q + \left(\frac{2\lambda^3 - 3\lambda + 2}{6} \right) \left(\frac{x-a}{b-a} \right)^{2q+1} |f'(b)|^q \right]^{\frac{1}{q}} \right\}.$$

For more information and recent advences on Ostrowski type inequalities, please refer to ([1]-[10],[12],[14]-[18]).

The aim of this paper is to establish generalization of the inequality (1.4) and give some special results.

2. MAIN RESULTS

First, we will give the following calculated integral which are used main results:

$$(2.1) \quad \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| t dt = \left(\frac{2\lambda^3 - 3\lambda + 2}{6} \right) \left(\frac{b-x}{b-a} \right)^3,$$

$$\begin{aligned}
(2.2) \quad & \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| (1-t) dt \\
&= \left(\frac{[6\lambda^2 - 6\lambda + 3] - [2\lambda^3 + 3\lambda + 2] \left(\frac{b-x}{b-a} \right)}{6} \right) \left(\frac{b-x}{b-a} \right)^2,
\end{aligned}$$

$$\begin{aligned}
(2.3) \quad & \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| t dt \\
&= \left(\frac{[6\lambda^2 - 6\lambda + 3] - [2\lambda^3 + 3\lambda + 2] \left(\frac{x-a}{b-a} \right)}{6} \right) \left(\frac{x-a}{b-a} \right)^2,
\end{aligned}$$

$$(2.4) \quad \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| (1-t) dt = \left(\frac{2\lambda^3 - 3\lambda + 2}{6} \right) \left(\frac{x-a}{b-a} \right)^{2q+1},$$

$$(2.5) \quad \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| dt = \left(\frac{2\lambda^2 - 2\lambda + 1}{2} \right) \left(\frac{b-x}{b-a} \right)^2,$$

$$(2.6) \quad \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| dt = \left(\frac{2\lambda^2 - 2\lambda + 1}{2} \right) \left(\frac{x-a}{b-a} \right)^2,$$

$$(2.7) \quad \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right|^p dt = \left(\frac{\lambda^{p+1} - (1-\lambda)^{p+1}}{p+1} \right) \left(\frac{b-x}{b-a} \right)^{p+1},$$

and

$$(2.8) \quad \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right|^p dt = \left(\frac{\lambda^{p+1} - (1-\lambda)^{p+1}}{p+1} \right) \left(\frac{x-a}{b-a} \right)^{p+1}.$$

We give a important integral identity for differentiable convex functions:

Lemma 1. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable mapping on (a, b) with $a < b$. If $f' \in L[a, b]$ for $\lambda \in [0, 1]$, then, for all $x \in [a, b]$, we have*

$$\begin{aligned}
(2.9) \quad & (b-a) \int_0^1 h(t, \lambda) f' [t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)] dt \\
&= \frac{(1-\lambda) f(\mu x + (1-\mu)(a+b-x))}{(1-2\mu)} \\
&\quad + \lambda \frac{(b-x) f(\mu b + (1-\mu)a) + (x-a) f(\mu a + (1-\mu)b)}{(b-a)(1-2\mu)} \\
&\quad - \frac{1}{(b-a)(1-2\mu)^2} \int_{\mu b + (1-\mu)a}^{\mu a + (1-\mu)b} f(u) du
\end{aligned}$$

for $\mu \in [0, 1] / \{1/2\}$ where

$$h(t, \lambda) = \begin{cases} t - \lambda \frac{b-x}{b-a}, & t \in \left[0, \frac{b-x}{b-a}\right] \\ t - 1 + \lambda \frac{x-a}{b-a}, & t \in \left(\frac{b-x}{b-a}, 1\right]. \end{cases}$$

Proof. Denote

$$\begin{aligned}
I &= \int_0^1 h(t, \lambda) f' [t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)] dt \\
&= \int_0^{\frac{b-x}{b-a}} \left[t - \lambda \frac{b-x}{b-a} \right] f' [t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)] dt \\
&\quad + \int_{\frac{b-x}{b-a}}^1 \left[t - 1 + \lambda \frac{x-a}{b-a} \right] f' [t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)] dt \\
&= I_1 + I_2.
\end{aligned}$$

Integrating by parts,

$$\begin{aligned}
I_1 &= \int_0^{\frac{b-x}{b-a}} \left[t - \lambda \frac{b-x}{b-a} \right] f' [t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)] dt \\
&= \frac{(1-\lambda)(b-x) f(\mu x + (1-\mu)(a+b-x))}{(b-a)^2(1-2\mu)} + \lambda \frac{(b-x) f(\mu b + (1-\mu)a)}{(b-a)^2(1-2\mu)}
\end{aligned}$$

$$-\frac{1}{(b-a)(1-2\mu)} \int_0^{\frac{b-x}{b-a}} f[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)] dt$$

and

$$\begin{aligned} I_2 &= \int_{\frac{b-x}{b-a}}^1 \left[t-1 + \lambda \frac{x-a}{b-a} \right] f' [t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)] dt \\ &= \frac{(1-\lambda)(x-a)f(\mu x + (1-\mu)(a+b-x))}{(b-a)^2(1-2\mu)} + \lambda \frac{(x-a)f(\mu a + (1-\mu)b)}{(b-a)^2(1-2\mu)} \\ &\quad - \frac{1}{(b-a)(1-2\mu)} \int_{\frac{b-x}{b-a}}^1 f [t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)] dt. \end{aligned}$$

Adding I_1 and I_2 , then we have

$$\begin{aligned} I &= I_1 + I_2 \\ &= \frac{(1-\lambda)f(\mu x + (1-\mu)(a+b-x))}{(b-a)(1-2\mu)} \\ &\quad + \lambda \frac{(b-x)f(\mu b + (1-\mu)a) + (x-a)f(\mu a + (1-\mu)b)}{(b-a)^2(1-2\mu)} \\ &\quad - \frac{1}{(b-a)(1-2\mu)} \int_0^1 f [t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)] dt. \end{aligned}$$

If we use the change of the variable $u = t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)$ with $du = b-a)(1-2\mu) dt$, then we have

$$\begin{aligned} I &= \frac{(1-\lambda)f(\mu x + (1-\mu)(a+b-x))}{(b-a)(1-2\mu)} \\ &\quad + \lambda \frac{(b-x)f(\mu b + (1-\mu)a) + (x-a)f(\mu a + (1-\mu)b)}{(b-a)^2(1-2\mu)} \\ &\quad - \frac{1}{(b-a)^2(1-2\mu)^2} \int_{\mu b + (1-\mu)a}^{\mu a + (1-\mu)b} f(u) du \end{aligned}$$

which completes the proof. \square

Remark 1. If we choose $\mu = 1$ in (2.9), then Lemma 1 reduces the Lemma 1 in [12].

Theorem 4. Let $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable mapping on (a, b) with $a < b$. If $|f'|^q$, $q \geq 1$, is convex on $[a, b]$ for $\lambda \in [0, 1]$ and $x \in [a, b]$, then we have the

following inequality

$$\begin{aligned}
(2.10) \quad & \left| \frac{(1-\lambda)f(\mu x + (1-\mu)(a+b-x))}{(1-2\mu)} \right. \\
& + \lambda \frac{(b-x)f(\mu b + (1-\mu)a) + (x-a)f(\mu a + (1-\mu)b)}{(b-a)(1-2\mu)} \\
& \left. - \frac{1}{(b-a)(1-2\mu)^2} \int_{\mu b + (1-\mu)a}^{\mu a + (1-\mu)b} f(u) du \right| \\
\leq & (b-a) \left(\frac{2\lambda^2 - 2\lambda + 1}{2} \right)^{1-\frac{1}{q}} \\
& \times \left\{ \left[\left(\frac{2\lambda^3 - 3\lambda + 2}{6} \right) \left(\frac{b-x}{b-a} \right)^{2q+1} |f'(\mu a + (1-\mu)b)|^q \right. \right. \\
& + F(x, \lambda) \left. \left(\frac{b-x}{b-a} \right)^{2q} |f'(\mu b + (1-\mu)a)|^q \right]^{\frac{1}{q}} \\
& + \left[G(x, \lambda) \left(\frac{x-a}{b-a} \right)^{2q} |f'(\mu a + (1-\mu)b)|^q \right. \right. \\
& \left. \left. + \left(\frac{2\lambda^3 - 3\lambda + 2}{6} \right) \left(\frac{x-a}{b-a} \right)^{2q+1} |f'(\mu b + (1-\mu)a)|^q \right]^{\frac{1}{q}} \right\}
\end{aligned}$$

where $\mu \in [0, 1] \setminus \{1/2\}$. Here

$$F(x, \lambda) = \frac{[6\lambda^2 - 6\lambda + 3] - [2\lambda^3 + 3\lambda + 2] \left(\frac{b-x}{b-a} \right)}{6}$$

and

$$G(x, \lambda) = \frac{[6\lambda^2 - 6\lambda + 3] - [2\lambda^3 + 3\lambda + 2] \left(\frac{x-a}{b-a} \right)}{6}.$$

Proof. Firstly, we suppose that $q = 1$. Taking modulus in (2.9), we have

$$\begin{aligned}
& \left| \frac{(1-\lambda)f(\mu x + (1-\mu)(a+b-x))}{(1-2\mu)} \right. \\
& + \lambda \frac{(b-x)f(\mu b + (1-\mu)a) + (x-a)f(\mu a + (1-\mu)b)}{(b-a)(1-2\mu)} \\
& \left. - \frac{1}{(b-a)(1-2\mu)^2} \int_{\mu b + (1-\mu)a}^{\mu a + (1-\mu)b} f(u) du \right|
\end{aligned}$$

$$\begin{aligned}
&\leq (b-a) \left\{ \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]| dt \right. \\
&\quad \left. + \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]| dt \right\} \\
&= (b-a) K_1.
\end{aligned}$$

Using convexity of $|f'|$, we get

(2.11) K_1

$$\begin{aligned}
&\leq \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| [t |f'(\mu a + (1-\mu)b)| + (1-t) |f'(\mu b + (1-\mu)a)|] dt \\
&\quad + \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| [t |f'(\mu a + (1-\mu)b)| + (1-t) |f'(\mu b + (1-\mu)a)|] dt \\
&= |f'(\mu a + (1-\mu)b)| \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| t dt \\
&\quad + |f'(\mu b + (1-\mu)a)| \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| (1-t) dt \\
&\quad + |f'(\mu a + (1-\mu)b)| \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| t dt \\
&\quad + |f'(\mu b + (1-\mu)a)| \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| (1-t) dt.
\end{aligned}$$

If we use the equalities (2.1)-(2.4) in (2.11), then we complete the proof for the case $q = 1$.

Secondly, we suppose that $q > 1$. Using Lemma 1 and power mean inequality, we obtain

$$\begin{aligned}
& \left| \frac{(1-\lambda)f(\mu x + (1-\mu)(a+b-x))}{(1-2\mu)} \right. \\
& + \lambda \frac{(b-x)f(\mu b + (1-\mu)a) + (x-a)f(\mu a + (1-\mu)b)}{(b-a)(1-2\mu)} \\
& \left. - \frac{1}{(b-a)(1-2\mu)^2} \int_{\mu b + (1-\mu)a}^{\mu a + (1-\mu)b} f(u) du \right| \\
\leq & (b-a) \left\{ \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]| dt \right. \\
& \left. + \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]| dt \right\} \\
= & (b-a) \left\{ \left(\int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| dt \right)^{1-\frac{1}{q}} \right. \\
& \times \left(\int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]|^q dt \right)^{\frac{1}{q}} \\
& + \left(\int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| dt \right)^{1-\frac{1}{q}} \\
& \left. \left(\int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]|^q dt \right)^{\frac{1}{q}} \right\} \\
= & (b-a)K_2.
\end{aligned}$$

Using the convexity of $|f'|^q$, we obtain

$$\begin{aligned}
& (2.12) \\
& K_2 \\
& \leq \left(\int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| dt \right)^{1-\frac{1}{q}} \\
& \quad \times \left(\int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| [t |f'(\mu a + (1-\mu)b)|^q + (1-t) |f'(\mu b + (1-\mu)a)|^q] dt \right)^{\frac{1}{q}} \\
& \quad + \left(\int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| dt \right)^{1-\frac{1}{q}} \\
& \quad \times \left(\int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| [t |f'(\mu a + (1-\mu)b)|^q + (1-t) |f'(\mu b + (1-\mu)a)|^q] dt \right)^{\frac{1}{q}} \\
& = \left(\int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| dt \right)^{1-\frac{1}{q}} \left(|f'(\mu a + (1-\mu)b)|^q \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| t dt \right. \\
& \quad \left. + |f'(\mu b + (1-\mu)a)|^q \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| (1-t) dt \right)^{\frac{1}{q}} \\
& \quad + \left(\int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| dt \right)^{1-\frac{1}{q}} \left(|f'(\mu a + (1-\mu)b)|^q \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| t dt \right. \\
& \quad \left. + |f'(\mu b + (1-\mu)a)|^q \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| (1-t) dt \right)^{\frac{1}{q}}.
\end{aligned}$$

If we use the equalities (2.1)-(2.6) in (2.12), then we complete the proof completely. \square

Remark 2. If we choose $\mu = 1$ in Theorem 4, then the inequality (2.10) reduces the inequality (1.4).

Corollary 1. Under assumptions of Theorem 4, if we choose $\mu = 0$ in (2.10), then we have the inequality

$$\begin{aligned}
(2.13) \quad & |(1 - \lambda) f(a + b - x) \\
& + \lambda \frac{(b - x) f(a) + (x - a) f(b)}{(b - a)} - \frac{1}{b - a} \int_a^b f(u) du \Big| \\
\leq & (b - a) \left(\frac{2\lambda^2 - 2\lambda + 1}{2} \right)^{1 - \frac{1}{q}} \left\{ \left[\left(\frac{2\lambda^3 - 3\lambda + 2}{6} \right) \left(\frac{b - x}{b - a} \right)^{2q+1} |f'(b)|^q \right. \right. \\
& + \left. \left. \left(\frac{[6\lambda^2 - 6\lambda + 3] - [2\lambda^3 + 3\lambda + 2] \left(\frac{b - x}{b - a} \right)}{6} \right) \left(\frac{b - x}{b - a} \right)^{2q} |f'(a)|^q \right]^{\frac{1}{q}} \right. \\
& + \left. \left[\left(\frac{[6\lambda^2 - 6\lambda + 3] - [2\lambda^3 + 3\lambda + 2] \left(\frac{x - a}{b - a} \right)}{6} \right) \left(\frac{x - a}{b - a} \right)^{2q} |f'(b)|^q \right. \right. \\
& \left. \left. + \left(\frac{2\lambda^3 - 3\lambda + 2}{6} \right) \left(\frac{x - a}{b - a} \right)^{2q+1} |f'(a)|^q \right]^{\frac{1}{q}} \right\}.
\end{aligned}$$

Corollary 2. If choose $\lambda = 0$ in Corollary 1, then we have the inequality

$$\begin{aligned}
(2.14) \quad & \left| f(a + b - x) - \frac{1}{b - a} \int_a^b f(u) du \right| \\
\leq & \frac{b - a}{2^{1 - \frac{1}{q}}} \left\{ \left[\frac{1}{3} \left(\frac{b - x}{b - a} \right)^{2q+1} |f'(b)|^q \right. \right. \\
& + \left. \left. \left[\frac{1}{2} - \frac{1}{3} \left(\frac{b - x}{b - a} \right) \right] \left(\frac{b - x}{b - a} \right)^{2q} |f'(a)|^q \right]^{\frac{1}{q}} \right. \\
& + \left. \left[\left[\frac{1}{2} - \frac{1}{3} \left(\frac{x - a}{b - a} \right) \right] \left(\frac{x - a}{b - a} \right)^{2q} |f'(b)|^q \right. \right. \\
& \left. \left. + \frac{1}{3} \left(\frac{x - a}{b - a} \right)^{2q+1} |f'(a)|^q \right]^{\frac{1}{q}} \right\}.
\end{aligned}$$

Remark 3. If we choose $x = \frac{a+b}{2}$ in Corollary 2, then we have the following midpoint inequality

$$\begin{aligned}
 (2.15) \quad & \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(u) du \right| \\
 & \leq \frac{b-a}{8} \left\{ \left[\frac{|f'(b)|^q + 2|f'(a)|^q}{3} \right]^{\frac{1}{q}} + \left[\frac{2|f'(b)|^q + |f'(a)|^q}{3} \right]^{\frac{1}{q}} \right\} \\
 & \leq (b-a) \left(\frac{3^{1-\frac{1}{q}}}{8} \right) [|f'(a)| + |f'(b)|]
 \end{aligned}$$

which is given by Kirmaci and Ozdemir in [9].

Corollary 3. If we take $\lambda = 1$ in Corollary 1, then we have the following inequality

$$\begin{aligned}
 (2.16) \quad & \left| \frac{(b-x)f(a) + (x-a)f(b)}{(b-a)} - \frac{1}{b-a} \int_a^b f(u) du \right| \\
 & \leq \frac{b-a}{2^{1-\frac{1}{q}}} \left\{ \left[\frac{1}{6} \left(\frac{b-x}{b-a} \right)^{2q+1} |f'(b)|^q + \left[\frac{1}{2} - \frac{b-x}{b-a} \right] \left(\frac{b-x}{b-a} \right)^{2q} |f'(a)|^q \right]^{\frac{1}{q}} \right. \\
 & \quad \left. + \left[\left[\frac{1}{2} - \frac{x-a}{b-a} \right] \left(\frac{x-a}{b-a} \right)^{2q} |f'(b)|^q + \frac{1}{6} \left(\frac{x-a}{b-a} \right)^{2q+1} |f'(a)|^q \right]^{\frac{1}{q}} \right\}.
 \end{aligned}$$

Corollary 4. If we take $x = \frac{a+b}{2}$ in Corollary 3, then we have the following trapezoid inequality

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(u) du \right| \leq \frac{b-a}{8 \times 6^{\frac{1}{q}}} [|f'(a)| + |f'(b)|].$$

Remark 4. In Corollary 4, we have an improvement of the constant in Theorem 2, since

$$\frac{1}{8 \times 6^{\frac{1}{q}}} < \frac{1}{8}$$

for $q \geq 1$.

Theorem 5. Let $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable mapping on (a, b) with $a < b$. If $|f'|^q$, $q > 1$ is convex on $[a, b]$ for $\lambda \in [0, 1]$ and $x \in [a, b]$, then we have the

following inequality

$$\begin{aligned}
(2.17) \quad & \left| \frac{(1-\lambda)f(\mu x + (1-\mu)(a+b-x))}{(1-2\mu)} \right. \\
& + \lambda \frac{(b-x)f(\mu b + (1-\mu)a) + (x-a)f(\mu a + (1-\mu)b)}{(b-a)(1-2\mu)} \\
& \left. - \frac{1}{(b-a)(1-2\mu)^2} \int_{\mu b + (1-\mu)a}^{\mu a + (1-\mu)b} f(u) du \right| \\
\leq & (b-a) \left(\frac{\lambda^{p+1} + (1-\lambda)^{p+1}}{p+1} \right)^{\frac{1}{p}} \\
& \times \left[\left(\frac{x-a}{b-a} \right)^{\frac{p+1}{p}} \left(\frac{1}{2} \left(\frac{b-x}{b-a} \right)^2 |f'(\mu a + (1-\mu)b)|^q \right. \right. \\
& + \left. \left[\frac{1}{2} - \frac{1}{2} \left(\frac{x-a}{b-a} \right)^2 \right] |f'(\mu b + (1-\mu)a)|^q \right)^{\frac{1}{q}} \\
& + \left(\frac{b-x}{b-a} \right)^{\frac{p+1}{p}} \left(\left[\frac{1}{2} - \frac{1}{2} \left(\frac{b-x}{b-a} \right)^2 \right] |f'(\mu a + (1-\mu)b)|^q \right. \\
& \left. \left. + \frac{1}{2} \left(\frac{x-a}{b-a} \right) |f'(\mu b + (1-\mu)a)|^q \right)^{\frac{1}{q}} \right]
\end{aligned}$$

where $\frac{1}{p} + \frac{1}{q} = 1$ and $\mu \in [0, 1] \setminus \{1/2\}$.

Proof. Taking modulus in Lemma 1 and using Hölder inequality, we have

$$\begin{aligned}
& \left| \frac{(1-\lambda)f(\mu x + (1-\mu)(a+b-x))}{(1-2\mu)} \right. \\
& + \lambda \frac{(b-x)f(\mu b + (1-\mu)a) + (x-a)f(\mu a + (1-\mu)b)}{(b-a)(1-2\mu)} \\
& \left. - \frac{1}{(b-a)(1-2\mu)^2} \int_{\mu b + (1-\mu)a}^{\mu a + (1-\mu)b} f(u) du \right| \\
\leq & (b-a) \left\{ \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]| dt \right.
\end{aligned}$$

$$\begin{aligned}
& \left. + \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]| dt \right\} \\
\leq & (b-a) \left\{ \left(\int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right|^p dt \right)^{\frac{1}{p}} \right. \\
& \times \left(\int_0^{\frac{b-x}{b-a}} |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]|^q dt \right)^{\frac{1}{q}} \\
& + \left(\int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right|^p dt \right)^{\frac{1}{p}} \\
& \left. \times \left(\int_{\frac{b-x}{b-a}}^1 |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]|^q dt \right)^{\frac{1}{q}} \right\} \\
= & (b-a)K_3.
\end{aligned}$$

Using the convexity of $|f'|^q$, we obtain

$$\begin{aligned}
K_3 & \leq \left\{ \left(\int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right|^p dt \right)^{\frac{1}{p}} \right. \\
& \times \left(|f'(\mu a + (1-\mu)b)|^q \int_0^{\frac{b-x}{b-a}} t dt + |f'(\mu b + (1-\mu)a)|^q \int_0^{\frac{b-x}{b-a}} (1-t) dt \right)^{\frac{1}{q}} \\
& \left. + \left(\int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right|^p dt \right)^{\frac{1}{p}} \right\}
\end{aligned}$$

$$\begin{aligned}
& \times \left(\left(|f'(\mu a + (1-\mu)b)|^q \int_{\frac{b-x}{b-a}}^1 t dt + |f'(\mu b + (1-\mu)a)|^q \int_{\frac{b-x}{b-a}}^1 (1-t) dt \right)^{\frac{1}{q}} \right) \\
& = \left\{ \left(\int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right|^p dt \right)^{\frac{1}{p}} \left(\frac{1}{2} \left(\frac{b-x}{b-a} \right)^2 |f'(\mu a + (1-\mu)b)|^q \right. \right. \\
& \quad + \left. \left[\frac{1}{2} - \frac{1}{2} \left(\frac{x-a}{b-a} \right)^2 \right] |f'(\mu b + (1-\mu)a)|^q \right)^{\frac{1}{q}} \right. \\
& \quad + \left(\int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right|^p dt \right)^{\frac{1}{p}} \left(\left[\frac{1}{2} - \frac{1}{2} \left(\frac{b-x}{b-a} \right)^2 \right] |f'(\mu a + (1-\mu)b)|^q \right. \\
& \quad \left. \left. + \frac{1}{2} \left(\frac{x-a}{b-a} \right)^2 |f'(\mu b + (1-\mu)a)|^q \right)^{\frac{1}{q}} \right\}.
\end{aligned}$$

If we use equalities (2.7) and (2.8), then we obtain required result. \square

Remark 5. If we choose $\mu = 1$ in (2.17), then the inequality Theorem 5 reduces the Theorem 2 in [12].

Corollary 5. Under assumptions of Theorem 5, choosing $\mu = 0$, we get the inequality

$$\begin{aligned}
(2.18) \quad & |(1-\lambda)f(a+b-x) \\
& + \lambda \frac{(b-x)f(a) + (x-a)f(b)}{(b-a)} - \frac{1}{b-a} \int_a^b f(u) du \Big| \\
& \leq (b-a) \left(\frac{\lambda^{p+1} + (1-\lambda)^{p+1}}{p+1} \right)^{\frac{1}{p}} \\
& \quad \times \left[\left(\frac{b-x}{b-a} \right)^{\frac{p+1}{p}} \left(\frac{1}{2} \left(\frac{b-x}{b-a} \right)^2 |f'(b)|^q + \left[\frac{1}{2} - \frac{1}{2} \left(\frac{x-a}{b-a} \right)^2 \right] |f'(a)|^q \right)^{\frac{1}{q}} \right. \\
& \quad \left. + \left(\frac{b-x}{b-a} \right)^{\frac{p+1}{p}} \left(\left[\frac{1}{2} - \frac{1}{2} \left(\frac{b-x}{b-a} \right)^2 \right] |f'(b)|^q + \frac{1}{2} \left(\frac{x-a}{b-a} \right) |f'(a)|^q \right)^{\frac{1}{q}} \right].
\end{aligned}$$

Corollary 6. *If we take $\lambda = 1$ and $x = \frac{a+b}{2}$ in Corollary 5, then we have the following trapezoid inequality*

$$\begin{aligned} & \left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(u) du \right| \\ & \leq \frac{b-a}{4(p+1)^{\frac{1}{p}}} \left[\left(\frac{3|f'(a)|^q + |f'(b)|^q}{4} \right)^{\frac{1}{q}} + \left(\frac{|f'(a)|^q + 3|f'(b)|^q}{4} \right)^{\frac{1}{q}} \right] \\ & \leq \left(\frac{b-a}{4} \right) \left(\frac{4}{p+1} \right)^{\frac{1}{p}} [|f'(a)| + |f'(b)|]. \end{aligned}$$

Proof. The proof of the first inequality is obvious. For second inequality, let $a_1 = 3|f'(a)|^q$, $a_2 = |f'(a)|^q$, $b_1 = |f'(b)|^q$, $b_2 = 3|f'(b)|^q$. Here $0 < \frac{1}{q} < 1$, for $q > 1$. Using the fact that,

$$\sum_{k=1}^n (a_k + b_k)^s \leq \sum_{k=1}^n a_k^s + \sum_{k=1}^n b_k^s$$

for $(0 < s < 1)$ $a_1, a_2, \dots, a_n \geq 0$, $b_1, b_2, \dots, b_n \geq 0$, we have

$$\begin{aligned} & \left(\frac{3|f'(a)|^q + |f'(b)|^q}{4} \right)^{\frac{1}{q}} + \left(\frac{|f'(a)|^q + 3|f'(b)|^q}{4} \right)^{\frac{1}{q}} \\ & = \frac{1}{4^{\frac{1}{q}}} \left[(3|f'(a)|^q + |f'(b)|^q)^{\frac{1}{q}} + (|f'(a)|^q + 3|f'(b)|^q)^{\frac{1}{q}} \right] \\ & \leq \frac{(1 + 3^{\frac{1}{q}})}{4^{\frac{1}{q}}} [|f'(a)| + |f'(b)|] \\ & \leq 4^{1-\frac{1}{q}} [|f'(a)| + |f'(b)|]. \end{aligned}$$

This completes the proof. \square

Remark 6. *If we take $\lambda = 0$ and $x = \frac{a+b}{2}$ in Corollary 5, then we have the following midpoint inequality*

$$\begin{aligned} & \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(u) du \right| \\ & \leq \frac{b-a}{4(p+1)^{\frac{1}{p}}} \left[\left(\frac{3|f'(a)|^q + |f'(b)|^q}{4} \right)^{\frac{1}{q}} + \left(\frac{|f'(a)|^q + 3|f'(b)|^q}{4} \right)^{\frac{1}{q}} \right] \\ & \leq \left(\frac{b-a}{4} \right) \left(\frac{4}{p+1} \right)^{\frac{1}{p}} [|f'(a)| + |f'(b)|] \end{aligned}$$

which is given by Kirmaci in [10].

Theorem 6. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable mapping on (a, b) with $a < b$. If $|f'|^q$, $q > 1$ is convex on $[a, b]$ for $\lambda \in [0, 1]$ and $x \in [a, b]$, then we have the*

following inequality

$$\begin{aligned}
(2.19) \quad & \left| \frac{(1-\lambda)f(\mu x + (1-\mu)(a+b-x))}{(1-2\mu)} \right. \\
& + \lambda \frac{(b-x)f(\mu b + (1-\mu)a) + (x-a)f(\mu a + (1-\mu)b)}{(b-a)(1-2\mu)} \\
& \left. - \frac{1}{(b-a)(1-2\mu)^2} \int_{\mu b + (1-\mu)a}^{\mu a + (1-\mu)b} f(u) du \right| \\
\leq & \frac{b-a}{2^{\frac{1}{q}}} \left(\frac{\lambda^{p+1} + (1-\lambda)^{p+1}}{p+1} \right)^{\frac{1}{p}} \\
& \times \left[\left(\frac{b-x}{b-a} \right)^{\frac{p+1}{p}} (|f'(\mu x + (1-\mu)(a+b-x))|^q + |f'(\mu b + (1-\mu)a)|^q)^{\frac{1}{q}} \right. \\
& \left. + \left(\frac{x-a}{b-a} \right)^{\frac{p+1}{p}} (|f'(\mu a + (1-\mu)b)|^q + |f'(\mu x + (1-\mu)(a+b-x))|^q)^{\frac{1}{q}} \right]
\end{aligned}$$

where $\frac{1}{p} + \frac{1}{q} = 1$ and $\mu \in [0, 1] \setminus \{1/2\}$.

Proof. Taking modulus in Lemma 1 and using Hölder inequality, we have

$$\begin{aligned}
(2.20) \quad & \left| \frac{(1-\lambda)f(\mu x + (1-\mu)(a+b-x))}{(1-2\mu)} \right. \\
& + \lambda \frac{(b-x)f(\mu b + (1-\mu)a) + (x-a)f(\mu a + (1-\mu)b)}{(b-a)(1-2\mu)} \\
& \left. - \frac{1}{(b-a)(1-2\mu)^2} \int_{\mu b + (1-\mu)a}^{\mu a + (1-\mu)b} f(u) du \right| \\
\leq & (b-a) \left\{ \int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right| |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]| dt \right. \\
& \left. + \int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right| |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]| dt \right\} \\
\leq & (b-a) \left\{ \left(\int_0^{\frac{b-x}{b-a}} \left| t - \lambda \frac{b-x}{b-a} \right|^p dt \right)^{\frac{1}{p}} \right.
\end{aligned}$$

$$\begin{aligned}
& \times \left(\int_0^{\frac{b-x}{b-a}} |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]|^q dt \right)^{\frac{1}{q}} \\
& + \left(\int_{\frac{b-x}{b-a}}^1 \left| t - 1 + \lambda \frac{x-a}{b-a} \right|^p dt \right)^{\frac{1}{p}} \\
& \times \left(\int_{\frac{b-x}{b-a}}^1 |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]| dt \right)^{\frac{1}{q}} \Bigg\}
\end{aligned}$$

Since convexity of $|f'|^q$, using Hermite-Hadamard inequality we have

$$\begin{aligned}
(2.21) \quad & \int_0^{\frac{b-x}{b-a}} |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]|^q dt \\
& = \frac{1}{(b-a)(1-2\mu)} \int_{\mu b + (1-\mu)a}^{\mu a + (1-\mu)(a+b-x)} f(u) du \\
& \leq \frac{|f'(\mu x + (1-\mu)(a+b-x))|^q + |f'(\mu b + (1-\mu)a)|^q}{2}
\end{aligned}$$

and

$$\begin{aligned}
(2.22) \quad & \int_{\frac{b-x}{b-a}}^1 |f'[t(\mu a + (1-\mu)b) + (1-t)(\mu b + (1-\mu)a)]| dt \\
& = \frac{1}{(b-a)(1-2\mu)} \int_{\mu a + (1-\mu)(a+b-x)}^{\mu a + (1-\mu)b} f(u) du \\
& \quad + \frac{|f'(\mu a + (1-\mu)b)|^q + |f'(\mu x + (1-\mu)(a+b-x))|^q}{2}
\end{aligned}$$

If we put (2.7)-(2.8) and (2.21)-(2.22) in (2.20), then we complete the proof. \square

Corollary 7. *Under assumption of Theorem 6, if we choose $\mu = 1$, then we have the inequality*

$$(2.23) \quad \left| (1 - \lambda) f(x) + \lambda \frac{(b-x)f(b) + (x-a)f(a)}{(b-a)} - \frac{1}{(b-a)} \int_a^b f(u) du \right| \\ \leq \frac{b-a}{2^{\frac{1}{q}}} \left(\frac{\lambda^{p+1} + (1-\lambda)^{p+1}}{p+1} \right)^{\frac{1}{p}} \left[\left(\frac{b-x}{b-a} \right)^{\frac{p+1}{p}} (|f'(x)|^q + |f'(b)|^q)^{\frac{1}{q}} \right. \\ \left. + \left(\frac{x-a}{b-a} \right)^{\frac{p+1}{p}} (|f'(a)|^q + |f'(x)|^q)^{\frac{1}{q}} \right].$$

Remark 7. *If we choose $\lambda = 0$ in Corollary 7, then Corollary 7 reduces Theorem 2 in [3].*

Corollary 8. *If we choose $\lambda = 1$ and $x = \frac{a+b}{2}$ in Corollary 7, then we have the following trapezoid inequality*

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{(b-a)} \int_a^b f(u) du \right| \\ \leq \frac{b-a}{4(p+1)^{\frac{1}{p}}} \left[\left(\left| f' \left(\frac{a+b}{2} \right) \right|^q + |f'(b)|^q \right)^{\frac{1}{q}} \right. \\ \left. + \left(|f'(a)|^q + \left| f' \left(\frac{a+b}{2} \right) \right|^q \right)^{\frac{1}{q}} \right].$$

REFERENCES

- [1] M. Alomari, M. Darus, S. S. Dragomir and P. Cerone, *Ostrowski type inequalities for functions whose derivatives are convex in the second sense*, Applied Mathematics Letters, 23 (2010), 1071–1076.
- [2] M.W. Alomari, M. E. Özdemir and H. Kavurmacı, *On companion of Ostrowski inequality for mappings whose first derivatives absolute value are convex with applications*, Miskolc Mathematical Notes, 13 (2012), 233–248.
- [3] M.W. Alomari and M. Darus *Some Ostrowski's type inequalities for convex functions with application*, RGMIA Res. Rep. Coll. 13(1) 20101, Art. 3.
- [4] N. S. Barnett and S. S. Dragomir, *An Ostrowski type inequality for double integrals and applications for cubature formulae*, Soochow J. Math., 27(1), (2001), 109-114.
- [5] P. Cerone and S.S. Dragomir, *Ostrowski type inequalities for functions whose derivatives satisfy certain convexity assumptions*, Demonstratio Math., 37 (2004), no. 2, 299–308.
- [6] S. S. Dragomir, *Ostrowski type inequalities for functions whose derivatives are h-convex in absolute value*, RGMIA Research Report Collection, 16(2013), Article 71, 15 pp.
- [7] S. S. Dragomir, *Ostrowski type inequalities for functions whose derivatives are h-convex in absolute value*, Tbilisi Mathematical Journal 7(1) (2014), pp. 1–17.
- [8] S. S. Dragomir and R. P. Agarwal, *Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula*, Appl. Math. Lett. Vol. 11, No. 5, pp. 91-95, 1998
- [9] U.S. Kirmaci, M.E. Özdemir, *On some inequalities for differentiable mappings and applications to special means of real numbers and to midpoint formula*, App. Math. and Comp. 153 (2004) 361–368.
- [10] U.S. Kirmaci, *Inequalities for differentiable mappings and applications to special means of real numbers and to midpoint formula*, App. Math. and Comp. 147 (2004) 137–146.

- [11] A. M. Ostrowski, *Über die absolutabweichung einer differentiebaren funktion von ihrem integralmittelwert*, Comment. Math. Helv. 10(1938), 226-227.
- [12] M. E. Ozdemir, H. Kavurmacı and M. Avcı, *Ostrowski type inequalities for convex functions*, Tamkang J. Math. 45(4), 335-340, 2014.
- [13] J.E. Pečarić, F. Proschan and Y.L. Tong, *Convex Functions, Partial Orderings and Statistical Applications*, Academic Press, Boston, 1992.
- [14] M. Z. Sarikaya, *On the Ostrowski type integral inequality*, Acta Math. Univ. Comenianae, Vol. LXXIX, 1(2010), pp. 129-134.
- [15] M. Z. Sarikaya *On the Ostrowski type integral inequality for double integrals*, Demonstratio Mathematica, Vol. XLV No 3 2012.
- [16] M. Z. Sarikaya and H. Ogunmez, *On the weighted Ostrowski type integral inequality for double integrals*, The Arabian Journal for Science and Engineering (AJSE)-Mathematics, (2011) 36:1153-1160.
- [17] M. Z. Sarikaya, E. Set, M. E. Ozdemir and S. S. Dragomir, *New some Hadamard's type inequalities for co-ordinated convex functions*, Tamsui Oxford Journal of Information and Mathematical Sciences, 28(2) (2012) 137-152.
- [18] M. Z. Sarikaya and H. Yaldiz, *On the Hadamard's type inequalities for L-Lipschitzian mapping*, Konuralp Journal of Mathematics, Volume 1, No. 2, pp. 33-40 (2013)

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE AND ARTS, DÜZCE UNIVERSITY, DÜZCE-TURKEY

E-mail address: hsyn.budak@gmail.com

E-mail address: sarikayamz@gmail.com